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ECE 2300 — Circuit Analysis — Fall 2002, Section # 02069
Quiz#1

Wednesday, September 18, 2002

DO NOT OPEN THIS QUIZ BOOKLET UNTIL INSTRUCTED TO DO SO !!!

This quiz has four pages, including this page. If you are missing any page,
raise your hand. To complete the quiz you have 20 minutes.

Notes:

1. Be sure that your name, ID number and the signature appear above.

2. The quiz is closed books and notes!!!
You may use any calculator you choose.

3. Along with solving the problem, to receive full credit you must:

- a) Show all work needed for solution.
b) Clearly indicate your answer (for example, by enclosing it in a box).
¢) Define all variables and parameters, and label them on the circuit diagram.
d) Show all units explicitly, in intermediate numerical results as well as in final solutions.
e) Use the proper notations for all quantmes

4. Do not use red ink.

3. Keep in mind that most of the credit for the problem will be given for showing the correct
methods or equations.

6. This quiz has one problem, and the total number of points is 100.
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ECE 2300 - Circuit Analysis — Fall 2002, Section # 02069, Quiz # 1
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For the shown circuit, calculate the power delivered to the circuit by the
dependent voltage source v,;, and by the dependent current source i,

For solving use the Ohm and Kirchhoff’s laws.
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First, he araut and +he co rrespondmj qiren data ar
a.;.;a/:y:/:: ke thot I’f Ux 15 a/eﬁ;e/  alf ‘p#fer 7””,,,9'/,@5
in the oiveust can be deﬁ'nea{.

_ Fara'nf»'m'n7 ux" the KcL is af/a/«'eo{ '{a nede @.m,,u,,
fi ure). With the fos:‘ﬁ'w rfﬁrmu 4" (see fhe frigunt ) for
Jhe cument f{vml'ny m Ry, it resolts o

ek =0 = from where, 141 = 04 |
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— Then i 1s aﬁoﬁ'ﬂl the KVL o the closed path defived b
By - Yia= Ry = Ry [for Ryand Ry it is vl/m*/] wseol Hhe Ohm' faw).
_\93( -'\9[2 - R{&} +R3 ‘L'X =0 , #)Q')L 15

= 100 104x ~40x04x) + 604X =0 => ~100 - 5043 =0, from

——‘--‘

) bea = ‘- =-22/A]!
(= ox(-2) = 201 |, g =Hxl-2) 22T

- To def»‘ne e power delivered by those two #/ehn'm‘{‘ /
soqras  Jor each vf them it musthbe Known the jermina

voltage and mwent. )
- Por depgpd[,ﬂ‘ SwUrece "\ﬂ;&’ s de
(see The f. urt ).
- Then with +he

respHs | ,
T | Yy = ~dsp=4f = = {0-10x(-2) = {0/A])
_4'3..45(—44—0 $ l‘j_ 5‘ - -

_ Then #he powter delivered b] the de/oendeﬁ W/kye
~ squrce "ok reslitt as

fined the cument "ty

kew opplied 47 nodle @ (see $he fiaurt), i}
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l Pebloy o, = 19;2&'1 = (-20)x (4o) = - 200]W/ l

- for +he de/oendenf cument souree Ly , ifis g/fzé;,,,,/ Yhe

pusifie reforence of Hhe fermiv al valfage, o, wee e
qunt). |

— Then, i+ is apphed the KVL 4o the closed porth a’f;é‘nap/,
by A, - Ra- Ry [see the fnywr).
W(}h :‘he 0‘"".»/ /”M Qﬁﬁé% o leﬁ(?ﬂ(&_/ pa and Rj.
it rervl h , | |
- '\Ql:fz -+ Re*&g + Rg'('x =0 => 'J(jz < PZ 1sp + R3¢x)
that i |
Lafs, = 20X (-22)+60x(-2) = - 560/V/.|

. G . R P
[ Q-

— Then the power delivered 4o the cirent by Fhe apena”
cument Souree 45 resvlfy as,

l Py, = iy Aia = (-560) (-22) = Je,aea/wll




